586

ATV WHEEL SPACER

Rugged Wheel Spacers

Providing increased offset on the hub, a wheel
spacer can aid when mounting large tires or giving
your vehicle a wider and more aggressive stance.

Fitment Bolt Thread 1" 1.5" 2"

. . Year Front/Rear . . .
All Spacers are equipped with lug nuts Pattern Thread thickness | thickness [ thickness
Arctic Cat - Part Numbers in red are special order
250 (2x4) 99-07 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
300 (2x4) 98-03 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
300 (4x4) 98-05 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
366 Auto IRS (2x4/4x4) 08-11 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
375 Auto SRA (2x4/4x4) 2002 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
400 04-15 Front/Rear [ 4x 115 | M10 x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
400 Auto IRS (2x4) 03-04 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
400 Auto IRS (4x4) 03-08 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
400 Auto IRS LE (4x4) 05-07 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
400 Auto SRA (4x4) 04-06 Front/Rear | 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
400 CORE 2013 Front/Rear | 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
400 MAN IRS (2x4) 02-04 Front/Rear | 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
400 MAN SRA (2x4) 2001 Front/Rear | 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
400 MAN IRS (4x4) 02/04-07 Front/Rear | 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
400 MAN SRA (4x4) 01-06 Front/Rear | 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
400 TBX Auto IRS (2x4/4x4) 04-06 Front/Rear | 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
400 TRV 06-07/09-10/12-14| Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
425 SE 2012 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
450 11-12/14-15 Front/Rear | 4x 115 [ M10x 1.25 [ PAWS-1022 | PAWS-1023 | PAWS-1024
450 Auto IRS (4x4) 10-11 Front/Rear [ 4x 115 [ M10x 1.25 [ PAWS-1022 | PAWS-1023 | PAWS-1024
450 Auto IRS LTD(4x4) 2011 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
450 CORE 2013 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
450 GT 2012 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
450 TRV 11-12 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
450 TRV GT 2012 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
450 XC 2015 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
500 14-16 Front/Rear | 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
500 Auto IRS (4x4) 02-09 Front/Rear | 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
500 Auto IRS LE (4x4) 05-06 Front/Rear | 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
500 AUTO SRA (4x4) 01-02 Front/Rear | 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
500 CORE 2013 Front/Rear | 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
500 LTD 2014 Front/Rear | 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
500 MAN IRS (4x4) 02-09 Front/Rear [ 4x 115 | M10x 1.25 [ PAWS-1022 | PAWS-1023 | PAWS-1024
500 MAN SRA (4x4) 01-02 Front/Rear [ 4x 115 | M10x 1.25 [ PAWS-1022 | PAWS-1023 | PAWS-1024
500 TBX Auto IRS (4x4) 03-06 Front/Rear | 4x 115 [ M10x 1.25 [ PAWS-1022 | PAWS-1023 | PAWS-1024
500 TBX Auto SRA (4x4) 2002 Front/Rear [ 4x 115 [ M10x 1.25 [ PAWS-1022 | PAWS-1023 | PAWS-1024
500 TRV Auto IRS (4x4) 03-06/08-09/14-15| Front/Rear | 4 x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 [ PAWS-1024
500 TRV Auto IRS CORE (4x4) 2013 Front/Rear | 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 [ PAWS-1024
500 XR 2015 Front/Rear | 4x 115 | M10x 1.25 [ PAWS-1022 | PAWS-1023 | PAWS-1024
500 XT 13-14 Front/Rear | 4x 115 | M10x 1.25 [ PAWS-1022 | PAWS-1023 | PAWS-1024
550 11-12/14 Front/Rear | 4x 115 | M10x 1.25 [ PAWS-1022 | PAWS-1023 | PAWS-1024
550 Auto IRS H1 (2x4/4x4) 09-10 Front/Rear | 4x 115 | M10x 1.25 [ PAWS-1022 | PAWS-1023 | PAWS-1024
550 Auto IRS H1 LE (2x4/4x4) 2009 Front/Rear | 4x 115 | M10x 1.25 [ PAWS-1022 | PAWS-1023 | PAWS-1024
550 Auto IRS S (2x4/4x4) 2010 Front/Rear | 4x 115 | M10x 1.25 [ PAWS-1022 | PAWS-1023 | PAWS-1024
550 CORE 2013 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
550 GT 11-12 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
ATV www.Trans Can Imports.com ¢ ¢ ¢ 1-800-661-9438




ATV WHEEL SPACER

Fitment Year Front/Rear Bolt Thread 1" 1.5" 2"

All Spacers are equipped with lug nuts Pattern Thread thickness | thickness | thickness
Arctic Cat - Part Numbers in red are special order

550 CORE 2013 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
550 GT 11-12 Front/Rear [ 4x 115 [ M10x1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
550 LTD 2011 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
550 TRV 2011 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
550 TRV Auto IRS H1 (2x4/4x4) 2010 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
550 TRV Auto IRS H1 LE (2x4/4x4) 2009 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
550 TRV Auto IRS S GT (2x4/4x4) 2010 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
550 TRV Cruiser 11-12 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
550 TRV GT 11-12 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
550 TRV LTD 14-15 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
550 TRV XT 13-15 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
550 XR 2015 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
550 XR LTD 2015 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
550 XR XT 2015 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
550 XT 13-14 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
650 2012 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
650 Auto IRS (2x4/4x4) 2004 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
650 Auto IRS H1 (2x4/4x4) 05/07-08/10 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
650 Auto IRS H1 LE (2x4/4x4) 2007 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
650 Auto IRS H1 SE (2x4/4x4) 2006 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
650 Auto IRS LE (2x4/4x4) 2004 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
650 TBX Auto IRS (2x4/4x4) 07/09 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
650 TRV Auto IRS H1 (2x4/4x4) 07-09 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
650 TRV Auto IRS H1 LE (2x4/4x4) 2007 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
650 V-Twin Auto IRS (2x4/4x4) 05-06 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
650 V-Twin Auto IRS LE 2x4/4x4) 2005 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 11-12/14 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 Auto IRS (2x4/4x4) 07-08 Front/Rear [ 4 x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 Auto IRS H1 (2x4/4x4) 09-10 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 Auto IRS H1 LE (2x4/4x4) 08-09 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 Auto IRS LE (2x4/4x4) 2007 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 Auto IRS S (2x4/4x4) 2010 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 Auto IRS SE (2x4/4x4) 2006 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 CORE 2013 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 GT 11-12 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 LTD 11/14 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 TBX 14-16 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 TBX Auto IRS H1 (2x4/4x4) 2010 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 TBX LTD 2011 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 TBX XT 2013 Front/Rear [ 4x 115 [ M10x1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 TRV 2011 Front/Rear [ 4x 115 [ M10x1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 TRV Auto IRS H1 (2x2/4x4) 2010 Front/Rear [ 4x 115 [ M10x1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 TRV Auto IRS H1 Cruiser (2x2/4x4) 08-10 Front/Rear [ 4x 115 [ M10x1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 TRV Auto IRS LE (2x2/4x4) 08/13 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 TRV Auto IRS S GT (2x2/4x4) 2010 Front/Rear [ 4x 115 [ M10x1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 TRV Cruiser 11-12 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
700 TRV GT 11-12 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 TRV LTD 2014 Front/Rear [ 4x 115 [ M10x1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 TRV SE 2016 Front/Rear [ 4x 115 [ M10x1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 TRV XT 13-15 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 XR 2015 Front/Rear [ 4x 115 [ M10x1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 XR LTD 2015 Front/Rear [ 4x 115 [ M10x1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 XR XT 2015 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
700 XT 13-14 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
1000 GT 11-12 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
1000 TRV 10/12-15 Front/Rear [ 4 x 115 [ M10x1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
1000 TRV Cruiser 09-12 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
1000 TRV XT 2015 Front/Rear [ 4 x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024

www. Trans Can Imports.com ¢ ¢ ¢ 1-800-661-9438 ATV

587



588

ATV WHEEL SPACER

Fitment Year Front/Rear Bolt Thread 1" 1.5" 2"

All Spacers are equipped with lug nuts Pattern Thread thickness | thickness | thickness
Arctic Cat - Part Numbers in red are special order

1000 XT 13-16 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Alterra 400 2016 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
Alterra 450 2016 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
Alterra 500 XT 2016 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
Alterra 550 2016 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
Alterra 550 XT 2016 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
Alterra 700 2016 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
Alterra 700 XT 2016 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
Mud Pro 650 10-11 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Mud Pro 700 09-15 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Mud Pro 700 LTD 2016 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Mud Pro 1000 10-15 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 500 HDX 14-15 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 500 HDX LTD 2014 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 500 HDX XT 2014 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 500 XT 2016 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 550 H1 2009 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 550 XT 10-15 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 650 2008 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 650 H1 2007 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 650 XT 2008 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 650 XT H1 06-07/09 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 700 HDX 11-13 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 700 HDX LTD 2014 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 700 HDX SE 2016 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 700 HDX XT 2015 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 700 XT 15-16 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 700 XT H1 LE 2009 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 700 XTX 08/10-14 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 700 XTX H1 2009 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 1000 XT 15-16 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Prowler 1000 XTZ 09-14 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Super Duty Diesel 700 07-08/11/13-15 | Front/Rear | 4x 115 | M10x 1.25 | PAWS-1022 | PAWS-1023 [ PAWS-1024
Thundercat 1000 08-10 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Wildcsat 700 Trail 14-16 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Wildcsat 700 Trail LTD 2015 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Wildcsat 700 Trail SE 2016 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Wildcsat 700 Trail XT 14-16 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Wildcat 1000 12-15 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Wildcat 1000 4 13-14 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Wildcat 1000 4 LTD 14-15 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Wildcat 1000 4X 14-15 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Wildcat 1000 LTD 13-14 Front/Rear [ 4x 115 [ M10x1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Wildcat 1000 Sport 15-16 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
Wildcat 1000 Sport LTD 15-16 Front/Rear [ 4x 115 [ M10x1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Wildcat 1000 Sport XT 15-16 Front/Rear [ 4x 115 | M10x 1.25 | PAWS-1022 [ PAWS-1023 | PAWS-1024
Wildcat 1000 X 13-16 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Wildcat 1000 X LTD 15-16 Front/Rear [ 4x 115 [ M10x 1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Wildcat 1000 X SE 2016 Front/Rear [ 4x 115 [ M10x1.25 | PAWS-1022 | PAWS-1023 | PAWS-1024
Beneche - Part Numbers in red are special order

Big Horn 700 09-11 Front/Rear [ 4x 110 [ M10x1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Big Hom 700 Crew 10-11 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Gray Wolf 700 10-11 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Spire 800 10-11 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Bobcat - Part Numbers in red are special order

3400 Series | | 4x156 | 3/8/2024 |PAWS-1007 [ PAWS-1008 | PAWS-1009

ATV www.Trans Can Imports.com ¢ ¢ ¢ 1-800-661-9438




ATV WHEEL SPACER

Fitment Year Front/Rear Bolt Thread 1" 1.5" 2"

All Spacers are equipped with lug nuts Pattern Thread thickness | thickness | thickness
Can-Am /Bombardier - Part Numbers in red are special order

Commander 800 11-16 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Commander 800 DOS 13-16 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Commander 800 XT 12-16 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Commander 1000 11-14 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Commander 1000 DPS 13-16 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Commander 1000 LTD 14-16 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Commander 1000 X 11-13 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Commander 1000 XT 11-16 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Commander 1000 XT-P 13-16 Front/Rear [ 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Commander MAX 1000 DPS 14-16 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Commander MAX 1000 LTD 2016 Front/Rear [ 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Commander MAX 1000 XT 14-16 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Defender 800R 2016 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Defender 800R DPS 2016 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Defender 800R XT 2016 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Defender 1000 2016 Front/Rear | 4x137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Defender 1000 CABIN 2016 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Defender 1000 DPS 2016 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Defender 1000 XT 2016 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick 1000 13-16 Front/Rear | 4x137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick 1000 DPS 2016 Front/Rear | 4x137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick 1000 XC 2016 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick 1000 XDS 2016 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick 1000 XDS Turbo 2016 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick 1000 XDS-DPS 2015 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick 1000 XMR 14/16 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick 1000 XMR-DPS 2015 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick 1000 XRS 13-15 Front/Rear | 4x137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick 1000 XRS Turbo 2016 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick 1000 XRS-DPS 14-16 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick 1000 XXC 14/16 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick 1000 XXC-DPS 2015 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick MAX 1000 14-15 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick MAX 1000 DOS 2016 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick MAX 1000 XDS 2016 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick MAX 1000 XDS Turbo 2016 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick MAX 1000 XDS-DPS 2015 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick MAX 1000 XRS 2014 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick MAX 1000 XRS Turbo 2016 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Maverick MAX 1000 XRS-DPS 14-15 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 330 (2x4/4x4) 03-10 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 400 (2x4/4x4) 06-14 Front/Rear [ 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 400 MAX 06-10/12-14 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 400 MAX XT 06-10/12-14 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 400 XT 06-14 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 500 (2x4/4x4) 07-14 Front/Rear [ 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 500 DPS 13-15 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 500 MAX 07-14 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 500 MAX DPS 13-15 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 500 MAX LTD 2010 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 500 MAX XT 07-13 Front/Rear [ 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 500 MAX XT-P 2010 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 500 XT 07-15 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 500 XT-P 2010 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 570 DPS 2016 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 570 MAX DPS 2016 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 570 MAX XT 2016 Front/Rear [ 4x137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 570 XT 2016 Front/Rear | 4x137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006

www. Trans Can Imports.com ¢ ¢ ¢ 1-800-661-9438 ATV

589



590

ATV WHEEL SPACER

Fitment Year Front/Rear Bolt Thread 1" 1.5" 2"

All Spacers are equipped with lug nuts Pattern Thread thickness | thickness | thickness
Can-Am /Bombardier - Part Numbers in red are special order

Outlander 650 (2x4/4x4) 06-16 Front/Rear [ 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 650 DPS 13-16 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 650 MAX 06-15 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 650 MAX DPS 13-16 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Qutlander 650 MAX X 2014 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 650 MAX XT 06-13/16 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 650 MAX XT-P 10-12/14 Front/Rear [ 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 650 XMR 13-14/16 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 650 XMR-DPS 2015 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 650 XT 06-16 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 650 XT-P 10-11 Front/Rear [ 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 6x6 1000 XT 15-16 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Qutlander 6x6 650 XT 15-16 Front/Rear [ 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 800 (2x4/4x4) 06-08 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 800 MAX 06-08 Front/Rear [ 4x137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 800 MAX DPS 2013 Front/Rear | 4x137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 800 MAX LTD 07-08/11 Front/Rear | 4x137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 800 MAX XT 06-08 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 800 XT 06-08/13 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 800R 09-15 Front/Rear | 4x137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 800R DPS 13-15 Front/Rear | 4x137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 800R MAX 09-12 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 800R MAX DPS 13-15 Front/Rear | 4x137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 800R MAX LTD 09-10 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 800R MAX XT 09-11/123-15 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 800R MAX XT-P 10-15 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 800R XMC 2011 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 800R XMR 11-12 Front/Rear | 4x137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 800R XMR-DPS 2015 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 800R XT 09-12/14-15 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 800R XT-P 1011/14-15 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 850 DPS 2016 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 850 MAX XT 2016 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 850 MAX XT-P 2016 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 850 XMR 2016 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 850 XT 2016 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 850 XT-P 2016 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander L 450 2016 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander L 450 DPS 15-16 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander L 450 MAX 15-16 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander L 450 MAX DPS 15-16 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander L 450 STD 2015 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander L 500 2015 Front/Rear [ 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander L 500 DPS 2015 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander L 500 MAX 2015 Front/Rear [ 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Qutlander L 500 MAX DPS 2015 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Qutlander L 570 2016 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander L 570 DPS 2016 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander L 570 LE 2016 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander L 570 MAX 2016 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander L 570 MAX DPS 2016 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander L 570 XMR 2016 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 1000 12-13 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 1000 DPS 13-16 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 1000 LTD 2013 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 1000 MAX DPS 13-15 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 1000 MAX LTD 13-16 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Outlander 1000 MAX X-PT 2013 Front/Rear | 4x137 | M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006

ATV

www.Trans Can Imports.com ¢ ¢ ¢ 1-800-661-9438




ATV WHEEL SPACER

Fitment Year Front/Rear Bolt Thread 1" 1.5" 2"
All Spacers are equipped with lug nuts Pattern Thread thickness | thickness | thickness
Can-Am /Bombardier - Part Numbers in red are special order
Outlander 1000 MAX XT 13-16 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Qutlander 1000 MAX XT-P 14-16 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 1000 XMR 13-14/16 Front/Rear | 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 1000 XMR-DPS 2015 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 1000 XT 13-16 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Outlander 1000 XT-P 14-16 Front/Rear [ 4x 137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Renegade 500 08-16 Front/Rear [ 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Renegade 800R 07-15 Front/Rear | 4x137 | M10x 1.25 | 182-4004 [ PAWS-1005 | PAWS-1006
Renegade 800R X 08-09 Front/Rear [ 4x 137 [ M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Renegade 800R XXC 10-14 Front/Rear [ 4x 137 [ M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Renegade 800R XXC-DPS 2015 Front/Rear [ 4x 137 [ M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Renegade 850 2016 Front/Rear [ 4x 137 [ M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Renegade 850 XXC 2016 Front/Rear [ 4x 137 [ M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Renegade 1000 12-16 Front/Rear [ 4x 137 [ M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Renegade 1000 XMR 2016 Front/Rear [ 4x 137 [ M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Renegade 1000 XXC 12-14/16 Front/Rear [ 4x 137 [ M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Renegade 1000 XXC-DPS 2015 Front/Rear [ 4x 137 [ M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Honda - Part Numbers in red are special order
Big Red 700 09-13 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Foreman 350 86-89 Front/Rear | 4x 110 | M10x 1.25 [ 182-4001 [ PAWS-1002 [ PAWS-1003
Foreman 400 (4x4) 95-06 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Foreman 450 ES (4x4) 98-04 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Foreman 450 S (4x4) 98-04 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Foreman 500 MAN (2x4) 05-06 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Foreman 500 (4x4) 14-16 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Foreman 500 MAN (4x4) 05-09/11-13 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Foreman 500 PS (4x4) 2014 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Foreman 500 EPS (4x4) 15-16 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Foreman 500 EPS MAN (4x4) 08-09/11-13 Front/Rear | 4x 110 | M10x 1.25 [ 182-4001 [ PAWS-1002 [ PAWS-1003
Foreman 500 ES (4x4) 05-09/11-16 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Foreman 500 ES PS (4x4) 2014 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Foreman 500 ES PS (4x4) 07-09/12-13/15-16| Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Fourtrax 200 91-97 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Fourtrax 300 88-95 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Fourtrax 300 (2x4) 99-00 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Fourtrax 300 (4x4) 95-00 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Pioneer 500 15-16 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Pioneer 700 14-16 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Pioneer 700 4 14/16 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Rancher 350 ES (2x4/4x4) 00-09 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rancher 350 S (2x4/4x4) 00-06 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rancher 400 AT (4x4) 04-07 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rancher 420 (2x4/4x4) 07-16 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rancher 420 AT (4x4) 09-14 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rancher 420 AT EPS (4x4) 09-13 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rancher 420 AT PS (4x4) 2014 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rancher 420 Auto DCT (4x4) 14-16 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rancher 420 Auto DCT EPS (4x4) 15-16 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rancher 420 Auto DCT PS (4x4) 2014 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rancher 420 EPS (4x4) 09-13/15-16 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rancher 420 ES (2x4/4x4) 07-16 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rancher 420 ES EPS (4x4) 09-13 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rancher 420 IRS Auto DCT 15-16 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rancher 420 IRS Auto DCT EPS 15-16 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rancher 420 PS (4x4) 2014 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Recon 250 15-16 Front/Rear | 4x 110 | M10x 1.25 [ 182-4001 [ PAWS-1002 [ PAWS-1003
Recon 250 (2x4) 97-09/11-14 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Recon 250 ES 2016 Front/Rear | 4x 110 | M10x 1.25 [ 182-4001 [ PAWS-1002 [ PAWS-1003
www. Trans Can Imports.com ¢ ¢ ¢ 1-800-661-9438 ATV

591



592

ATV WHEEL SPACER

Fitment Year Front/Rear Bolt Thread 1" 1.5" 2"

All Spacers are equipped with lug nuts Pattern Thread thickness | thickness | thickness
Honda - Part Numbers in red are special order

Recon 250 ES (2x4) 02-09/11-14 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rincon 650 (4x4) 03-07 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rincon 680 (4x4) 06-16 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Rubicon 500 (4x4) 14-16 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rubicon 500 Auto (4x4) 01-09/11-13 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rubicon 500 DCT 15-16 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rubicon 500 DCT EPS 15-16 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rubicon 500 DCT EPS Deluxe 15-16 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rubicon 500 EPS 15-16 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Rubicon 500 EPS Auto (4x4) 09/11-13 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Rubicon 500 EPS Deluxe 15-16 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Rubicon 500 Power Steering 2014 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Kawasaki - Part Numbers in red are special order

Bayou 185 85-87 Rear 4x110 | M10x1.25 [ 182-4001 | PAWS-1002 | PAWS-1003
Bayou 220 88-05 Front 4x110 | M10x1.25 [ 182-4001 | PAWS-1002 | PAWS-1003
Bayou 250 (2x4) 03-12 Front 4x110 | M10x1.25 [ 182-4001 | PAWS-1002 | PAWS-1003
Brute Force 300 2012 Rear 4x110 | M10x1.25 [ 182-4001 | PAWS-1002 | PAWS-1003
Brute Force 650i (4x4) 06-13 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Brute Force 750i (4x4) 05-14/16 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Brute Force 750i EPS (4x4) 12-16 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
KFX 400 (2x4) 03-05 Rear 4x110 | M10x1.25 [ 182-4001 | PAWS-1002 | PAWS-1003
KFX 450R (2x4) 08-12 Rear 4x110 | M10x1.25 [ 182-4001 | PAWS-1002 | PAWS-1003
Mule 1000 1988 Front/Rear [ 4x 137 [ M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Mule 2010 1990 Front/Rear [ 4x 137 [ M10x 1.25 | 182-4004 | PAWS-1005 | PAWS-1006
Mule 2500 98-00 Front/Rear [ 4x 137 [ M12 x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Mule 2510 (4x4) 98-00 Front/Rear | 4x 137 | M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Mule 2510 Diesel 00-01/03 Front/Rear [ 4x137 [ M12 x 1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Mule 3000 01-08 Front/Rear | 4x137 | M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Mule 3010 (4x4) 01-08 Front/Rear [ 4x 137 [ M12 x 1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Mule 3010 Diesel (4x4) 02/04-07 Front/Rear | 4x137 M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Mule 3010 Trans (4x4) 05-08 Front/Rear | 4x137 M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Mule 3010 Trans Diesel (4x4) 2007 Front/Rear | 4x137 M12 x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Mule 3020 01-02 Front/Rear | 4x137 M12 x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Mule 4000 09-16 Front/Rear | 4x137 M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Mule 4010 (4x4) 09-16 Front/Rear | 4x 137 M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Mule 4010 Diesel (4x4) 09-13 Front/Rear | 4x137 M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Mule 4010 Trans (4x4) 09-16 Front/Rear | 4x137 M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Mule 4010 Trans Diesel (4x4) 09-13 Front/Rear | 4x137 M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Mule 4010 Trans SE 2016 Front/Rear | 4x137 M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Mule 500 91/93-95 Front/Rear | 4x137 M10x1.25 182-4004 PAWS-1005 | PAWS-1006
Mule 550 97-0/03-04 Front/Rear | 4x137 | M10x1.25 182-4004 | PAWS-1005 | PAWS-1006
Mule 600 05-08 Front/Rear | 4x137 M10 x 1.25 182-4004 PAWS-1005 | PAWS-1006
Prairie 300 (2x4) 99-02 Front/Rear | 4x137 M10x 1.25 182-4004 PAWS-1005 | PAWS-1006
Prairie 400 97-0 Front/Rear | 4x 137 M10x 1.25 182-4004 PAWS-1005 | PAWS-1006
Prairie 700 (4x4) 04-06 Front/Rear | 4x137 | M10x1.25 182-4004 PAWS-1005 | PAWS-1006
Teryx 4 2014 Front/Rear | 4x137 M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Teryx 4 LE 2014 Front/Rear | 4x137 M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Teryx 750 08-13 Front/Rear | 4x137 M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Teryx 750 4 12-13 Front/Rear | 4x137 M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Teryx 750 4 EPS 12-13 Front/Rear | 4x137 M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Teryx 750 LE Sport 09-11/13 Front/Rear 4x137 M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Teryx 800 14-16 Front/Rear | 4x137 M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Teryx 800 4 15-16 Front/Rear | 4x137 M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Teryx 800 4 LE 15-16 Front/Rear | 4x137 M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
Teryx 800 LE 2014 Front/Rear | 4x137 M12x1.25 | PAWS-1016 | PAWS-1017 | PAWS-1018
ATV www.Trans Can Imports.com ¢ ¢ ¢ 1-800-661-9438




ATV WHEEL SPACER

Fitment Year Front/Rear Bolt Thread 1" 1.5" 2"

All Spacers are equipped with lug nuts Pattern Thread thickness | thickness | thickness
Polaris - Part Numbers in red are special order

Most Models except those listed below 4 x 156 3/80-024 | PAWS-1007 | PAWS-1008 | PAWS-1009
Scrambler 850 (4x4) 13-16 Front/Rear [ 4x 156 | M10x 1.25 | 182-4019 | PAWS-1020 [ PAWS-1021
Scrambler 850 EPS (4x4) 2013 Front/Rear [ 4x 156 | M10x 1.25 | 182-4019 | PAWS-1020 [ PAWS-1021
Scrambler 1000 XP (4x4) 15-16 Front/Rear [ 4x 156 | M10x 1.25 | 182-4019 | PAWS-1020 [ PAWS-1021
Scrambler 1000 XP EPS (4x4) 2014 Front/Rear [ 4x 156 | M10x 1.25 | 182-4019 | PAWS-1020 [ PAWS-1021
Sportsman 550 (4x4) 11-13 Front/Rear [ 4x 156 | M10x 1.25 | 182-4019 [ PAWS-1020 | PAWS-1021
Sportsman 550 EPS (4x4) 10/12-14 Front/Rear [ 4x 156 | M10x 1.25 | 182-4019 [ PAWS-1020 | PAWS-1021
Sportsman 550 Touring (4x4) 2014 Front/Rear [ 4x 156 | M10x 1.25 | 182-4019 [ PAWS-1020 | PAWS-1021
Sportsman 550 Touring EPS (4x4) 11-13 Front/Rear | 4x 156 | M10x 1.25 | 182-4019 | PAWS-1020 | PAWS-1021
Sportsman 550 X2 (4x4) 2014 Front/Rear | 4x 156 | M10x1.25 | 182-4019 | PAWS-1020 | PAWS-1021
Sportsman 550 X2 EFI (4x4) 10-13 Front/Rear [ 4x 156 | M10x 1.25 | 182-4019 | PAWS-1020 | PAWS-1021
Sportsman 550 XP (4x4) 09-10 Front/Rear | 4x 156 | M10x 1.25 | 182-4019 | PAWS-1020 | PAWS-1021
Sportsman 550 XP EPS (4x4) 2011 Front/Rear [ 4x 156 | M10x 1.25 | 182-4019 | PAWS-1020 | PAWS-1021
Sportsman 850 (4x4) 09-16 Front/Rear | 4x 156 | M10x 1.25 | 182-4019 | PAWS-1020 | PAWS-1021
Sportsman 850 EPS (4x4) 10-13 Front/Rear | 4x 156 | M10x 1.25 | 182-4019 | PAWS-1020 | PAWS-1021
Sportsman 850 High Lifter Edition (4x4) 2016 Front/Rear | 4x 156 | M10x 1.25 | 182-4019 | PAWS-1020 | PAWS-1021
Sportsman 850 SP (4x4) 15-16 Front/Rear [ 4x 156 | M10x 1.25 | 182-4019 | PAWS-1020 | PAWS-1021
Sportsman 850 Touring EPS (4x4) 11-14 Front/Rear | 4x 156 | M10x 1.25 | 182-4019 | PAWS-1020 | PAWS-1021
Sportsman 850 Touring SP (4x4) 15-16 Front/Rear | 4x 156 | M10x 1.25 | 182-4019 | PAWS-1020 | PAWS-1021
Sportsman 850 X2 EFI (4x4) 2011 Front/Rear | 4x 156 | M10x 1.25 | 182-4019 | PAWS-1020 | PAWS-1021
Sportsman 1000 XP (4x4) 15-16 Front/Rear | 4x 156 | M10x 1.25 | 182-4019 | PAWS-1020 | PAWS-1021
Sportsman 1000 XP High Lifter Edition (4x4) 2016 Front/Rear | 4x 156 | M10x 1.25 | 182-4019 | PAWS-1020 | PAWS-1021
Sportsman 1000 XP Touring (4x4) 15-16 Front/Rear | 4x 156 | M10x 1.25 | 182-4019 | PAWS-1020 | PAWS-1021
General 1000 EPS (4x4) 2016 Front/Rear | 4x 156 | M12x1.25 | PAWS-1010 | PAWS-1011 [ PAWS-1012
General 1000 EPS Deluxe (4x4) 2016 Front/Rear | 4x 156 | M12 x 1.25 | PAWS-1010 [ PAWS-1011 | PAWS-1012
Ranger 570 Crew Full Size (4x4) 14-15 Front/Rear | 4x 156 | M12 x 1.25 | PAWS-1010 [ PAWS-1011 | PAWS-1012
Ranger 570 Crew Full Size EPS (4x4) 2015 Front/Rear [ 4x 156 [ M12x 1.25 | PAWS-1010 | PAWS-1011 | PAWS-1012
Ranger 570 Full Size (4x4) 15-16 Front/Rear | 4x 156 | M12 x 1.25 | PAWS-1010 [ PAWS-1011 | PAWS-1012
Ranger 570 4 Crew (4x4) 2016 Front/Rear [ 4x 156 | M12 x 1.25 | PAWS-1010 [ PAWS-1011 | PAWS-1012
Ranger 570 6 Crew (4x4) 2016 Front/Rear | 4x 156 | M12x1.25 | PAWS-1010 [ PAWS-1011 | PAWS-1012
Ranger 900 4 Crew (4x4) 14-15 Front/Rear [ 4x 156 [ M12x1.25 | PAWS-1010 | PAWS-1011 | PAWS-1012
Ranger 900 4 Crew EPS (4x4) 2015 Front/Rear [ 4x 156 [ M12x1.25 | PAWS-1010 | PAWS-1011 | PAWS-1012
Ranger 900 XP (4x4) 13-16 Front/Rear [ 4x 156 [ M12x1.25 | PAWS-1010 | PAWS-1011 | PAWS-1012
Ranger 900 XP EPS (4x4) 2015 Front/Rear [ 4x 156 [ M12 x1.25 | PAWS-1010 | PAWS-1011 | PAWS-1012
Ranger 900 XP High Lifter Edition (4x4) 2016 Front/Rear [ 4x 156 [ M12x1.25 | PAWS-1010 | PAWS-1011 | PAWS-1012
Ranger 900 5 Crew EPS (4x4) 2016 Front/Rear [ 4x 156 [ M12 x1.25 | PAWS-1010 | PAWS-1011 | PAWS-1012
Ranger 900 6 Crew EPS (4x4) 2016 Front/Rear [ 4x 156 [ M12x1.25 | PAWS-1010 | PAWS-1011 | PAWS-1012
Ranger 1000 DSL (4x4) 2016 Front/Rear [ 4x 156 [ M12x1.25 | PAWS-1010 | PAWS-1011 | PAWS-1012
Ranger 1000 DSL Crew (4x4) 2016 Front/Rear [ 4x 156 [ M12x1.25 | PAWS-1010 | PAWS-1011 | PAWS-1012
RZR 900 50 inch (4x4) 15-16 Front/Rear [ 4x156 [ M12x1.25 | PAWS-1010 | PAWS-1011 | PAWS-1012
RZR 900 S (4x4) 15-16 Front/Rear [ 4x156 [ M12x1.25 | PAWS-1010 | PAWS-1011 | PAWS-1012
RZR 900 S EPS (4x4) 2015 Front/Rear [ 4x 156 | M12x1.25 | PAWS-1010 [ PAWS-1011 | PAWS-1012
RZR 900 XC (4x4) 15-16 Front/Rear [ 4x 156 | M12 x 1.25 | PAWS-1010 [ PAWS-1011 | PAWS-1012
RZR 1000 4 High Lifter Edition (4x4) 2016 Front/Rear [ 4x 156 | M12x1.25 | PAWS-1010 [ PAWS-1011 | PAWS-1012
RZR 1000 S (4x4) 2016 Front/Rear [ 4x 156 | M12x1.25 | PAWS-1010 [ PAWS-1011 | PAWS-1012
RZR 1000 XP (4x4) 2014 Front/Rear [ 4x 156 | M12x1.25 | PAWS-1010 [ PAWS-1011 | PAWS-1012
RZR 1000 XP 4 (4x4) 2014 Front/Rear | 4x 156 | M12x1.25 | PAWS-1010 [ PAWS-1011 | PAWS-1012
RZR 1000 XP 4 EPS (4x4) 15-16 Front/Rear [ 4x 156 | M12 x1.25 | PAWS-1010 [ PAWS-1011 | PAWS-1012
RZR 1000 XP Desert (4x4) 2015 Front/Rear | 4x 156 | M12x1.25 | PAWS-1010 [ PAWS-1011 | PAWS-1012
RZR 1000 XP EPS (4x4) 15-16 Front/Rear [ 4x 156 | M12x1.25 | PAWS-1010 [ PAWS-1011 | PAWS-1012
RZR 1000 XP High Lifter Edition (4x4) 15-16 Front/Rear [ 4 x 156 [ M12x1.25 [ PAWS-1010 | PAWS-1011 | PAWS-1012
RZR Turbo 4 (4x4) 2016 Front/Rear [ 4x 156 | M12 x 1.25 | PAWS-1010 | PAWS-1011 [ PAWS-1012
RZR Turbo XP EPS (4x4) 2016 Front/Rear [ 4x 156 | M12 x 1.25 | PAWS-1010 | PAWS-1011 [ PAWS-1012
Suzuki - Part Numbers in red are special order

Eiger 400 Auto (2x4) 02-04 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
Eiger 400 Man (2x4) 02-04 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Eiger 400 Auto (4x4) 02-07 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Eiger 400 Man (4x4) 02-07 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003

www. Trans Can Imports.com ¢ ¢ ¢ 1-800-661-9438 ATV

593



594

ATV WHEEL SPACER

Fitment Year Front/Rear Bolt Thread 1" 1.5" 2"

All Spacers are equipped with lug nuts Pattern Thread thickness | thickness | thickness
Suzuki - Part Numbers in red are special order

King Quad 300 (4x4) 98-02 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
King Quad 400 AS 08-13 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
King Quad 400 ASi 14-16 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
King Quad 400 FS 08-13 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
King Quad 400 FSi 14-16 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
King Quad 450 AXi 07-11 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
King Quad 500 AXi 11-14/16 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 [ PAWS-1002 | PAWS-1003
King Quad 500 AXi PS 09/11-14/16 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
King Quad 700 (4x4) 05-07 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
King Quad 750 AXi 08-09/11-16 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
King Quad 750 AXi P 09/11-16 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
LTR 450 (2x4) 06-08 Rear 4x110 | M10x1.25| 182-4001 | PAWS-1002 [ PAWS-1003
Ozark 250 (2x4) 02-12 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Twin Peaks 700 (4x4) 04-05 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Vinson 500 Auto (4x4) 02-07 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Vinson 500 Man (4x4) 04-07 Front/Rear | 4x 110 | M10x 1.25 [ 182-4001 | PAWS-1002 | PAWS-1003
7250 (2x4) 02-08 Rear 4x110 | M10x1.25| 182-4001 | PAWS-1002 [ PAWS-1003
7400 (2x4) 02-07 Rear 4x110 | M10x1.25| 182-4001 | PAWS-1002 [ PAWS-1003
Yamaha - Part Numbers in red are special order

Bear Tracker 250 99-05 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Big Bear 1987 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Big Bear 250 (2x4) 07-09 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Big Bear 350 85-86/88-94 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Big Bear 350 (2x4) 96-99 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Big Bear 350 (4x4) 95-99 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Big Bear 400 (2x4) 01-04 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Big Bear 400 (4x4) 00-06/08-12 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Big Bear 400 IRS (4x4) 2007 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Bruin 250 05-06 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Bruin 350 (2x4/4x4) 04-06 Front/Rear [ 4x 110 [ M10x1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Grizzly 125 04-13 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Grizzly 300 12-13 Front/Rear [ 4x 110 | M10x1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Grizzly 350 2014 Front/Rear [ 4x 110 | M10x1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Grizzly 350 (2x4) 07-11 Front/Rear [ 4x 110 [ M10x1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Grizzly 350 (4x4) 07-12 Front/Rear [ 4x 110 [ M10x1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Grizzly 350 IRS (4x4) 07-11/13 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Grizzly 400 (4x4) 2007 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Grizzly 450 (4x4) 07-14 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Grizzly 450 EPS 2014 Front/Rear [ 4x 110 | M10x1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Grizzly 550 (4x4) 09/11-14 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Grizzly 550 EPS (4x4) 2014 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Grizzly 600 (4x4) 98-01 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Grizzly 660 (4x4) 02-08 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Grizzly 700 (4x4) 07-16 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Grizzly 700 EPS (4x4) 2014 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Grizzly 700 EPS 15-16 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Grizzly 700 LE 2016 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Grizzly 700 SE 2016 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Kodiak 400 (2x4) 00-01/03-04 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Kodiak 400 (4x4) 95-06 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Kodiak 450 (4x4) 03-06 Front/Rear [ 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Kodiak 700 2016 Front/Rear | 4x 110 | M10x 1.25 [ 182-4001 [ PAWS-1002 [ PAWS-1003
Kodiak 700 EPS 2016 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Kodiak 700 SE 2016 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Pro Hayker 1000 04-05 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Pro Hauler 700 04-06 Front/Rear | 4x 110 | M10x1.25| 182-4001 | PAWS-1002 [ PAWS-1003
Rhino 450 (4x4) 07-09 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Rhino 660 (4x4) 04-07 Front/Rear | 4x 110 | M10x 1.25 | 182-4001 | PAWS-1002 [ PAWS-1003

ATV

www.Trans Can Imports.com ¢ ¢ ¢ 1-800-661-9438




ATV WHEEL SPACER

Fitment Year Front/Rear Bolt Thread 1" 1.5" 2"

All Spacers are equipped with lug nuts Pattern Thread thickness | thickness | thickness
Yamaha - Part Numbers in red are special order

Rhino 700 (4x4) 08-09/11-13 Front/Rear [ 4x 110 [ M10x 1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Rhino 700 Sport (4x4) 08-09/11-12 Front/Rear [ 4x 110 [ M10x1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Timberwolf 250 (2x4) 92-98 Rear 4x110 | M10x1.25 | 182-4001 | PAWS-1002 [ PAWS-1003
Timberwolf 250 (4x4) 94-00 Front/Rear [ 4x 110 [ M10x 1.25 [ 182-4001 | PAWS-1002 | PAWS-1003
Viking 700 201 Front/Rear | 4x 137 | M12x1.25 | PAWS-1016 [ PAWS-1017 | PAWS-1018
Wolverine 350 (2x4) 08-09 Front/Rear [ 4x 110 [ M10x1.25 | 182-4001 | PAWS-1002 | PAWS-1003
Wolverine 350 (4x4) 94-07 Front/Rear [ 4x 110 [ M10x 1.25 [ 182-4001 | PAWS-1002 | PAWS-1003
Wolverine 450 (4x4) 06-11 Front/Rear [ 4x 110 [ M10x 1.25 [ 182-4001 | PAWS-1002 | PAWS-1003

www. Trans Can Imports.com ¢ ¢ ¢ 1-800-661-9438 ATV

595



